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Cluster: 0231 ptr; resid: 0.29; r/c: 28/82

x.range

upstream meme PSSM #1; e=1.8e+03

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.9e+03

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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12269
9246

10073

10718

14339

15683

20460 31968

32681

33845

34924

34982

36322

36970

43218
4349043754

44279

45258

45400

46233

46236

46282

46796

54049

55125

9490

9855

string −500 −400 −300 −200 −100 −1
34982NA
55125NA
36970−0.02
44279−0.05
33845−0.07
43754−0.07
46236−0.10
15683−0.14

9855−0.30
10718−0.39
10073−0.39
46233−0.47
12269−0.61

9490−0.61
54049−0.66
36322−0.76
45258−0.79
31968−2.33
34924−2.48
45400−2.60
32681−2.81
14339−3.84
46282−3.91
43218−4.31
20460−6.61

9246−7.45
43490−7.61
46796−8.83

log10(P) upstream meme1 2 log10(P.clust)=−2.24; 28 seqs; 27 uniq
c(0.5, 2.5)
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